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Total cost of ownership (TCO) is a financial estimate designed to help consumers and
enterprise managers assess direct and indirect costs commonly related to software or

hardware. It is a form of full cost accounting.

total amount of money required to own and maintain something: TCO
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Total cost of ownership (TCO)

Total Cost of Ownership (TCO) can be defined as the systematic quantification of all

costs generated over the lifetime of a project
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t = end of project

one time costs + recurring costs (t)
TCO = t; -

project duration

31> 35929 Jgoy9 ol 53 aS (singlic

9 Wliup=i Slda,s ailo 33,5 sw plzl 059, 9, Slaul 5> g8lg ;> aS suld ai3s @ One time costs
Slasl ol GSow sup=s 8,5 b g 05951 Slpsil 13 9 ,LSy aS (suld @i b g B3 oy Sd sheel (3> L

28l

9 il 595 9 Sl Jusd 5l (S3)l80 53,5 (s pleil Sudgun wisar aS suld aiy3s : Recurring Costs
ooluiiny S a3 Guixed 9 ¢ GVl (pusband)sliol 3>

Jlw 5 Mo cowl (Sow piloslw (s . 000 5,158 ayloyuw ,lanl 5,90 wl> 0,95 & Project Duration
Al Sla @iy ggozo TCO Sl 11 g Aiilawoi 39030 | Ulos ol 55 LpilosLw (s sy 25,8y Lo 5>

Soino 48,5 L > pglie oai

3 33pol.wordpress.com Cuaal 331 aia 483 Ly alldaa ) 2l




